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1. Data Set A: 3, 4, 6, 8, 9

a. What is the standard deviation of Data Set A?____________________
b. Without a calculator explain what would happen to the standard deviation if you added another 6 to Data Set A.

c. Confirm your answer to part b. by calculating what the standard deviation would be if you added a 6 to Data Set A.

d. Without a calculator explain what would happen to the standard deviation if you added a 2 and 10 to Data Set A.

e. Confirm your answer to part d. by calculating what the standard deviation would be if you added a 2 and 10 to Data Set A.

2. Compare/contrast the following data sets:

a. Data Set A:
0, 10, 20, 30, 40
Data Set B:
0, 0, 20, 40, 40

Data Set C:
0, 19, 20, 21, 40

b. Data Set D:
2, 4, 6, 8, 10

Data Set E:
12, 14, 16, 18, 20

3. Order each of the following from smallest to largest standard deviation:

a. Data Set F



Data Set G 


Data Set H
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b. Data Set I



Data Set J 


Data Set K
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4. Correct each statement:

a. The median of the data set below is 5 because 5 is the middle number:

12, 8, 9, 5, 10, 10, 3

b. The only mode of the data set below is 12 because 12 occurs most frequently:

12, 9, 24, 12, 18, 9, 12, 11, 9

5. The data set below gives the numbers of trials required by 10 puppies to learn a trick.

Data Set:  20, 22, 19, 25, 23, 22, 5, 24, 19, 22

a. Use the outlier rule to determine if any outliers exist.

b. Find the mean, median, mode, range, and standard deviation of the data set when the outlier is included and when it is not.

c. Describe the outliers effect…what changed?  What didn’t change?

6. The following data has been found when studying the depths of different types of SCUBA equipment:  

Lower Quartile:  12 m below sea level


Median:  32 m below sea level


Mean:  38 m below sea level


Mode:
30 m below sea level

Upper Quartile:  72 m below sea level
a. Based on the information, explain why you think the data will have a certain shape.

b. Construct a box plot if the minimum and maximum depths are 1 m and 318 m below sea level.

c. Can you conclude that there will be outliers?  Show your reasoning.

TEACHER INFO ONLY!

F:
1, 2, 3, 3, 3, 3, 3, 4, 5
( = 1.05
G:
2, 2, 2, 3, 3, 3, 4, 4, 4
( = 0.82
H:
2, 2, 2, 2, 3, 4, 4, 4, 4
( = 0.94
I:
1, 1, 1, 3, 3, 3, 5, 5, 5
( = 1.63
J:
1, 1, 1, 1, 3, 5, 5, 5, 5
( = 1.89
K:
1, 1, 3, 3, 3, 3, 3, 5, 5
( = 1.33
